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- A civeoler disc bes area d =16xom® . A sector, with area 2z cm?, is cut ot
of the dise.

(i}  Show that the sector has radins = 4 cm and angle & =-§— radians.

(i}  Show that the exact area of the minor segment cut off by the chord £C
is (2r—42) cm?
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2. Inthefigure below OA and OB are radii of g viccle with cenfre O, They both measure 10cm in
length. The svo AR subtends an angle of %mtﬁi&aa gt O, AB iz a chond of the circle.

i) Calenlate the exact men of the sector AOB

1) Culenlate the syact area of the frisngle AOR snd hence find the ares of the
' shaded pegment 8T the nircle,
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‘ FIGURE NOT TO SCALE,
The diagram shows the sector of a clecle,

¥ind the area of this sector. Give your answer to the nearest square
centimeire. ‘
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4. A major sector of a circle, radius 1 unit, has an arc length of 4 units.
(1) TFind the angle of the major sector, at
the centre of the eircle, in radians.

(i) Find the area of the major sector,

(il Calculate the area of the triangle DAB
cut off by the chord joining the
endpoints of the two radii.
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51 A car windscreen wiper traces out the area RSTY where RS and 7 are arcs
of circles centre 0, radius 40cm and 20 cm respectively, as shown In the fipure.

Calculate the exact perimeter of RSTU,
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6. Inthe disgram below, PO ig the sre of 2 cirele with centre O,
The radivg OF = Yot and the angle POC s i,gi radiang.
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Find the exnct Jength of the are PG,
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7. Ateble top i in the shaps of o cirdle with o small segment removed a3 showm,
The eirele has centrs ¢ and radivg 0.6 motres, The Tength of the straight edee
AB 5 alsn 0.6 metres.

i¥ Explain why £AOB =i-3$ radiang

i} Find the sres of the lable top 1o 2 decanal places




CEM — Yr 12 — 2U Circular Functions 1 & 2 — Review Paper 2

8. A bridge*s steel arch ABC is part of 8 cirele of radius 10,1 metres, BY
bizects the chord AC which is 4 metres long.

MNOTTOSCALE

(i} Find ihe size of angle ADC corrent (o the nearest degres,

(fiy  Find the lengih of steel needed to make the arch 4BC,
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9. Inthe disgram, CD iz mn arc of a eircle with radius § cm and centre 0.
T1s the midpoint of OC. Augle COD is 2%

» W«m—m\

NOT TO SCALE

Find the perimeter of CTD in exact form,
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10. The diagram shows a circle with cenire ¢ and rading 2 centimetres. The poiuts 4
and B lie on the circumnference of the circle amd ZAQE = @,

() ‘There are two possible values of & for which the ama of AADE is
NE] aquare centimetres, One value is o

Find the other valus,

®

(if) Suppossthat §= 3

{1} Find e aren of the sector AOR,

{?) Pind the exact length of the perimetsr of the minor segment bonnded
by the chord AR and the arc AB.
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Answers
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6. [=rg megﬁméﬁi R
£ 2

8. (b3 {1) (2 marks}

o083 £LADC =

= 0,82
LADC = 33"

(b (if) (2 marks)
23%= 2 % 9% radians
g0 = <
= {34 radianz
{w @ ‘
=10,0% 0.4
= 4,04 meires

1007 + 10,1 = 4
2x1,ix10.1

7. b

Trizngle is equilateral, all sides 0.6m

1 mark

fi} Aren of segment =
1 ,
=—pt{f—gind
Er{ sind)

= %(ﬂ,ﬁ}z(%-sin%]
= 0.0326

Henes mrea of table = circle — gepmant =
= 7(0.6)" -~ 0.0326...

=1.098...

e 1,10 §q units (2dp}

9. Length T

OF=4 cm (midpeint of OO

1 maek {area of minor seguent)

1 mark (got up with sublssclion
{eem whele circle aren)

1 mark (final avswer to 2dp)

finus ¥ mark for incorrect

roupding}
Are length C8
f=pf

. oy g, 2
Dt 4% 4 B - 2xdxd cns(i—s} €0 = Bx ’3”
N ’ 167
Drs =112 = “‘j”‘
DT = 47
Yerimeter = DT+ o €O + CT ‘
= [44? + 1%’3 + 4} ]
10y AresofAdOB =2 absinG .
.2 @) 0=5=60°
1 )
= %I a
V3= 2xaxxsin rld= LB =60°
Jg-::hinﬁ HAB=2 om
B since AAOR is equilateral
Ssmg=con Arc AR 1=10
= E —E =% ){E- = .Z.E. o
g= 3 i3 3 == 54l
=%: E,;}'_ = Perimsler = %4@}%1.

2. Other value of 8 = 533

1
(i) (1) Avea of sector AOB = Eﬂ@
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